Code No.:103890 B Sub. Code : AMEC 41

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022,

Fourth Semester
Economics — Core
BASIC MATHEMATICS FOR ECONOMICS — II
(For those who joined in July 2020 only)
Time : Three hours Maximum : 76 marks
PART A — (10.x 1 = 10 marks)
| Answer ALL questions,
Choose the correct answer :
L. y=10x"aale dy/dx.srans
(=) 120x" (<) 120x'2
(@) 1203 () 120x'°
If y=10x", find dy/dx
(a) 120x" (b) 120x'?
(¢) 120x" (d) 120«'



y=7 erafléd dy/dx snevs

(=) O (&) 7
@ 5 (m 11
If y=7, find dy/dx

@ 0 b 7
© 5 @ 11

u=xy aam smmldpe oufdx womb du/dy arers
(i) Oufdx=y whppib dufdy=x

(=) Oufdx=y* wpmb bu/dy =:'\:2

(@) 8ufdx=3" wppid du/dy ==

() Bufox=2y whpib du/dy =8

Find the éu/dx and oduféy for the functions E
u=xy

(a) oBufdx=y and dufdy=x

(b) Bufdx=y* and du/dy=x*

(© Bu/dx=y" and dufdy=x°

(d) Buféx=2y and dufdy=3x
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@=24KL-10L* -8K* aep opusds emmHe

% Lo Hmib % S Hueuienns samLdlueyb

(=) 0Q/0L =24K - 20L wpmytb
8Q/oK =24L-16K

(=) 0Q/8L=4K wpmb Q/oK =4L—-40K*

(@) 6Q/5L=2K wppw 6Q[0K =2L-24K*

(m) 0Q/8L=K wpmbdQ/eK = K*

Find out oQ and 28 for the production function

AL oK
Q=24KL -10I* -8K*

(a) 6Q/8L =24K —20L and 3Q/6K = 24L 16K
() PQ/L =4K and 8Q/6K =4L - 40L’

(¢ 8Q/dL=2K and 6Q/oK =2L-24L"

(d) &Q/sL=K and 8Q/oK = K*

J-’fdx semsSHs

(=) Tx+C (=) 7
@ x (M x+C
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Calculate j?dx

) Tx=C - (h)

~1

) x d x+C

() ?-c <) 8
@® x 7y x=+C
Find j x'd=x

&
(a) %-—c ® 8
¢) =x d xiC

sefe GCerlun eor sar@Soggeart wriy

() =y ibeuds

&) Laleey (M} TiesE

(i1 Gaed

Who invented the theory of matrices?

{a) Cayley (b) Adam Smith

(c) Kevnes (d) Marshall
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Qeciaus el liyd GhléEgdr earar ararseafler cufiens
sepssiuGEng
(=) Siexfl (<) sewib Camiun(
@) wvises () cumsuflie

An array of numbers in rectangular brackets is
called

(a) Matrix (b) Set theory

(¢) Logarithmic (d) Differentiation
paref® - Qaslif uglumiees gt
apen@wmfibgeurt wimr?

(=) eufled) LiGlamy, SlCwimeimgsaLi

(y) @i cuflg

(@) &eeh

(FF) IDTaEd

Who first propounded input - output analysis?
(a) Wassily W. Leontief

(b) Adam Smith

(¢) Keynes 7

(d) Marshall
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10, eee@ - Gauefii vEuunis
Qe uwsiuREDE!.
() Oamplogidp e payser
(5) o_peyedt
@ Gsmfie
(m)  eppdmore Gpmid
Input - output analysis is used to study the

(a) Inter - industry relations
(b) Relations

(¢) Industry

(d) Independentindustry

PART B — (5 x 5 = 25 marks)

Answer ALL guestions choosing either (a) or (b).
Each answer sho‘ulgl not exceed 250 words.

11. s y=(x*+x)(x*+x) aafld dy/dx srems.
If y=(x*~x")(x*+x) find dy/dx.
. Or
(<) y=5x4—.213 aafle dy/dx. d’yldx® wombd
diyldx® srems.
If y=5x*+2¢*, find dy/dx, d?yldx® and
dyldx®.
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12,

13.

(21)

(<24)

(1)

(<)

w=A4x* + 3y° @er Qungs amslligeners
s Hluieys.
Find the total differentiation  of
w=4x?+ 3y%.

Or
u=x"+y' 58, DEnETEE) uEd
aensli R aeneTh STl dlwsytd.
For u=xz"+y*, find all the partial

derivatives.

I(J:s —x+1)dx sraus.

Find [(x*-x+1)dx.
Or

wHuGE [ -2x-B)dx.
1

Evaluate I(xs -2x—3)dx.
1
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14 =
{ex)
15. (=)
()

2 1
) 4 0)
4=13 0| wpp> B= AB aravs.
- S 8/
o 1)
fa 1)
! 4 0
fA=13 OiandB= 3 g find AB.
5 1)
Or
/2 1 0) 1 2 -1
A=1 -1 2| wppd B=|-2 0 1
lo 1 3) 11 2

eee AB= BA ceuengs sfluTidsa)b.
Venfy whether AB = BA for the matrices

f2 1 ) 1 2 -1
4=/1 -1 2|and B=|-2 0 1
o 1 3 1 1 2

&R - GaefiSE uELumbela el
EGEEIS@ST a(pgis.

Write basic concepts of input - output
analysis, .
Or

R~ O - Ceuefui®

u@Guumielesr
S @CTEESOT slaTdsab.

Explain the assumptions of input - output
analysie.
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16.

17.

PART C— (5 x8=40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

(<31

(<)

{<21)

(<=21)

y=x'-4x-5 aerp  ermOhE HFsuled
SO GODBFULFEDFE saTLBlwiab.

Find the maxima or minima of the function
y=x*-dx-5.

Or

Cpameué sty q=30-6p-p* aafle

P =2&0 5@@]@ B aumaumi (MR) wpmpib
Cpaes Apélipsfls seameneanus semfluagib.

Find the Elasticity of demand and marginal
revenue (MR), at P=2 if the demand

function ¢ =30-5p- p°.
z=10x+20y—x* - y? ety . AN
SFlsUlsh @GoppsULspamps s Hluab.
Find the maxima or minima of the function
z=10x+20y 27— 3*.

Or

u=x"+y% 42" _3xyz Qe guefar
Copppes Lweru@sd x(dufox)+ y(ou/ay)+
2(Cu/0z)= 3u aren ALY
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18.

19.

(=)

- ()

(=)

Prove x(Buféx)+ y(8u/ov)+z(6uféz)=3u for
the function u=x*+3"+2%-3xyz by using
Euler's theorem.

C=2+6x-4x* aep @pdHewns erm9 e,

Qurss Seawrer Qewa) 50 aafld Gurgss
Qeodllmerd sarsf@ps.

Compute total cost for the marginal cost
function C=2-+6x—4x?, if total fixed cost is
50, :

Or -

Gseas emiy P=25-3x-3x" gaeb,
Geomas (x;) 2 mseyd Quabsted maiGeurfer
= ufl areneTauns @(HEEGD?

If the demand function is P =25-3x—-3x2
and the demand (x;) is 2, what will be the
consumer's surplus? '

Siefieafler auanssaneT cSlend; s,

Explain the types of matrices.

Or
2 1 '
A=[3 J aam  oaflse sgeoedp
E&TL_Hluieyid.

Find the inverse of the matrix A -—_[2 ﬂ
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20.

()

(<21)

seel® - GeueldE

ugLumielien
wsdwusgausms eflatésab.

Explain the importance of input - output
analysis.

. Or
e aral® - Qauali@ uGLUMbele aurbysmar
Aerégs. :

LExplain the limitations' of input - output
analysis.
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